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Run 5478 quartetwise, PosHalAccO/NSamplas

=== Laser O -—

Entries: TI203
Mean: 12.0653 «/- 0UDD22
St Dhey- 0.5825 +~ 00015

Run 5478 quartetwise, NegHalAccl/NSamplas(

=== Lager OFF ---
Entrie=: 46101
Mean: 18580 «- 0.0010
Sid Dhey: 001371+ 00007

Run 5478 quartetwise, Diffs0

=== Laser O -—-

Enlries: TI203
Mean: 13,5908 /- 000023
Sid Dhev: 06150 & 0006

=== Lager OFF ---
Entrie=: 46101
Mean: 18656 «/- 0.0010
Sid Deyv: 0138 - 00007

=== Laser O -—

Eniries: 73283
Mean: -0.7218 <« 000 F
Sid Dhey: 04482 4 000072

Run 5478 quartetwize, Sums0

=== Laser OFF ---
Entries: 46101
Mean: -0.00687 < 00012
Sid Dhey: 002519 4~ 00008

Run 5478 quartetwise, Asyms(

=== Laser O -—-

Entries: 73283
Mean: 26,4600 «'- 00041
Sid Dev: 117104 &~ 00029

== Laser OFF ---
Entries: 46101
Mean: 3.7243 «/- 0.0016
Sid Dev: 03448 - 0.00711

=== Laser ON -—
Entries: 73203
Mean: 317370 +/- 0.0730
Sid Dev: 19.7587 +/- WWOG1E

=== Laser OFF ---
Entries: 46101
Mean: -0.2942 «- DUOG16
Sid Dy 1107740 &/~ WOBES
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Run 5478 quartetwise, PosHelAccd
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Masn: IATEIEVE IS & F18LEHN
22 Dira: TREEHEEY .MM+ J1E0.87

— Lassar OFF —
frlnea: 48101
Masn: TEIIE1A.0754 &0 17811080
Sod Dwre: 2ETHIGRES +- EHAHI1
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Run 5478 quartatwise, Diffsd
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:_ Mann: -TI0ET T8 4 167LE52T
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Run 5478 quartetwise, Asymsd
— --— Lager OM -—-
— Entries: 73203
[ Mean: -31.9351 +/- 00629
E Sbd Dwew: 17.3065 +- 00452
— === Laser OFF ---
— Eniries: 46101
— Mean: -0.1710 &/ DUOZIF
— Sbd Deyv: 50857 - 0.0167
_I 1 1 I 1 l J— e 1 1 I 1 1
130 100 4 LiH

SO0

000

2000

100k

G000

S0

000

2000

1000

Run 5478 quartetwise, NegHalAcc4

— Ly 0% —

Erlnea: 711

Magn: JE042250. T84T . S84 2E
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— Lussar OFF —
Erlne: 45101
Maan: 1-EZ30ES 3458 - | 1849298
Sd Drwre: ZHEHE 114 4= B4 2EE2S
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Run 5478 quartetwise, Sums4
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Run 5478 quartetwise, Asyms USbg!

ik

Al

=== Laser O -—

Entries: TI203
Mean: -0.007%9 - 0O E
St Doy 01894 4 00071

=== Lager OFF ---
Entrie=: 46101
Mean: -0.00151 < QLOORD
Sid Dhey: 04193 - 00074
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Run 5478 quartetwize, Asyms Dsbg1

=== Laser O -—

Eniries: 73283
Mean: -0.005%4 «/- 0U00DE
Sid Dhey: 0012683 -~ 00003

=== Laser OFF ---
Entries: 46101
Mean: -0.0087 «/- 0LO0DE
Sid Dey: 0012683 - 00004

Run 5478 quartetwise, Asyms Horiz Fingar

L ﬂﬂmhﬂn[ﬂ

0.5

=== Laser ON -—

Entries: 73203
Mean: -0.005%9 «- 00014
Sid Dey: 03702 &~ 00070

=== Laser OFF ---
Entries: 46101
Mean: -0.0005 < 00023
Sid Dey: 0.5204 +~ 00017
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Run 5478 quartetwize, Asyms UShg2
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=== Laser O -—-

Enlries: TI203
Mean: -0.0115 «/- U001 1
Sid Dhev: 02900 &5 00000

=== Lager OFF ---
Entrie=: 46101
Mean: -0.0124 «/- 000014
Sid Dev: 02910 &~ 00070
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Run 5478 quartetwise, Asyms DSbg2
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=== Laser O -—-

Entries: 73283
Mean: -0.03076 «/- 00004
Sid Dev: 01165 &~ 0003

== Laser OFF ---
Entries: 46101
Mean: -0.3075 «/- 0000E
Sid Dev: 01158 &~ 0.0004

Run 5478 quartetwise, Asyms Vert Finger

0.5

=== Laser O -—-

Entries: 73203
Mean: -0.0042 «- 00010
Sid Dev: 02746 - 0.0007

== Laser OFF ---
Entries: 46101
Mean: -0.002Z3 «- 0001 &
Sid Dhev: 0.3540 - 00072
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Run 5478 quartetwize, posHI vs time
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Run 5478 guartetwize, summi vs time
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Run 5478 quartetwize, posH4 vs time
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Run 5478 gquartetwize, negH4 vs time
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Run 5478 quartetwize, USbgl vs time

Run 5478 gquartetwize, USbg2 ve time
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Run 5478 quaretwizse, variFing vs timea
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